F26EFEE 2 —FAVIKET M) —&FIER L—2E8E JIF =

2017410H1H AR 100° A AL AL 53
_ B om/s BE  B®  EAE  m/s _
OPJ5R _ F1L—R [#2L—2 [83L—R [E4L—2 [hvhlE R
No. [EFH +—)LNFTEY ST AR AR ISR IR R ERS R R
BEHEE—ILTY
1208 BR ILFES THHE 3110(57 1 1 1 1
19IET BA. IDhEZ P 3355|EMGEIET 77 2 2 2 2
20| 2K, B AN 1FRE 2836|i15iEiE 77 3| 3 3 3
6|l&aA Bt 1253L 3L 3253| SIS ST 4l 4 . .
FHKIYk - RR—Y
RE. EFE. 2Bk .Co 3370/ & 5 5 5 5
FHKIYk - RR—Y
2|AH.E Bhl. hdd 2958 |/ 6 6 6 6
18|FHE. = el s 3028|:E5iE %57 7 7 7 7
BEHEE—IVTY
13|EM A |ELEh MIE 3315|157 8 8 8 8

B&GEEY1ZTE

1 [ESOTORRY 3027|%927 9 9 9 9

=]
e
HY
it

B&GEEY1=T

8|EH oA |FHAD oA 3184 it 77 10| 10 10 10
=ERIAVNMERDa
—7a—R3AvrIS

22| )13 BE |hhEL 258N 2827|7 110 11 11 11

BEEE—)TE
B RRHMOL=TY
5

|HNL AE . WEhh fzbh&S | 29025 12] 12 12 12
BEFEE—UVTY
15| BA. . |&LEh 1$EE 3232|157 13| 13 13 13
YRII XD AR
X5lkF ER |EAL foE 3260| 7— a7 14| 14 14 14
=ERIVNMERDa
—7a1—X3vk55
244 E |ELDE AL 3317|7 15| 15 15 15
=ERIVMNERDa
—7a1—X3vko5
B|BA BA|DDLE ALE 2304|7 16| 16 16 16
YRIGI XD AR
43l BB ER - E HLLAT 33|—=YHa=7 |ocS | 26 26 17
B&GEEY1=T
10|&%H._& PIE Lhd 2807|i@%027 0CS 26 26 17
B&GEEY1=T
91 1= zIrde LA 3025|027 0CS 26 26 17
B&GEEY1=T
IEH & ITHD. VUE 3184|imEYZD 0oCcS | 26 26 17
BEFEE—ULTY
1488 465 [LES. BIL 3271|577 0oCS | 26 26 17
BEFEE—UVTH
6|8 Fx [LES. LEHUT 2878|357 DNF 26 26 17
YRII XD AR
3|14 g Mht Le> 2944|—1)> 702 =7 IDNF 26 26 17
=ERIVNMERTA
—7aA—X3AvkIS
25| B B | hhEeL FaE | 2809|7 DNF 26 26 17
=ERIVNMERTA
—7a1—Z3IVLI5
20|BBE B |5LIES =0 2809|7 DNGC 26 26 17




